A=y coce

B3I THERTY~—V vy W —T = AT 4 )VERER

1 = 18
2 K B % iE
3 # 7o
4 F =4
5 H i
6 = %
7T W Bk
8 FHET—LIH
9 F B
10 Bl e

—BALENENE BT v I —he
FRETAF R 5T
FRET - FRTHEEES
(—fERTY vy I —WHaY~—HY v h—T 2 AT 4 NVETEER
AFn 6 4:(2024 498 A 1 H(A)~6 H(K)
TN 6 &5

[U-12] T&V—27KOIAA h—F A > b

[U-14] 7Y — 7 RONAN P E

(& +] V—78k

[U-18] V-7,

[v=7]1 VU—7ik%

[U-12] 24F—2x [U-14] 129—2 [4&7] 4F—4
[U-18] 5F—2 [v=7] 4F—4

A6 45 H NS — A FEANE BT —Ha DR —LX—12T
EERITVET

[U-12] &R EBER, £ 3M2RETD

[U-14] &R EER. B3ME2RETD

[z +] ®EHEzERETDL

[U-18] &R, WEMBLZEEZTS

[v=7] BEHEzERETD

(1) BARY > I —WHEBHHEIC LD

(2) ZOMIIBFHEERDOEDDEZAHITLD

blg





